—LLAZTLY b SLIF 2')—X2020

Y ARAN—EfEZ L IZ BT AR E TAR:

fER SRk

HRFEIERR:

ZU~TEE: 25 WE:

FATER A—y—: =V /A%

FEME: kg IR HEREOHE:

IEREE: 77— SR KIEPE HPE MQL

IR : I 1A 7—FMNE: Mpa

TV —4 A—yp—: =)V /A%

LolE S » - A (B9 D HFRL I :
albyME: o DrRb:

Fxy7: H T KB DI T AT

= H & KEDH AT

7“‘?#‘ M:

/hh4: Bft&: P

ROFES: LEFEDRDZ B D% 1EEY S E I

S—LLZRETLY |~4 DDER

BED I A
IEFEDR iR

01 HhLAREH—ICHEETFS
‘Fﬁ{%é mm mm “ :
(b TV ) 02 >—LEBAOBE. 4. NUDOREEZBIE ™
HINRES mm mm y
(b TV D) 03 WAHAITHOBHHITRE TR

XREREIH A 5 i 5 = e o — -~ o
FLERE) LI Hrif VG EY e T AEfR EEE ACAT#% 04 HH Et*g$ﬁ74 /j- W 7

=

HYH:

BE LAl B2

E—R0LE 7Ly EBHRL S—LLRATLY MR
[4 ¥E s ] |

FIIEIRE P 1 pnCwEOS—Lshvh 32T,
TANOI st &5 H B 3# B IERT m RROEE YT TRELRPTVZID

e B BHDHIS. T XS R

DEs$ MRIUP 75349-0226 HEROMHMHRISI TEL:0480-92-7011 FAX:0480-92-4441 ﬁy)ftj' 5 \E‘ $.I.w weh. aAA = FFEEE -
Dss FLTUP 7989-0537 SHSNBIL, BOIFHEISEIS  TEL:0224-37-2075 FAX:0224-37-2213 Bo—LLA2TLYMCEBZDR £ —m-o——————
[S%8 PHIUP T460-0013 FARSSEHPE Ha21 TE5EES TEL:062-322-4001 FAX:052-322-4003

C
] y N=| gV (=] -——
[Z%8 wBIPIVF7 T733-0003 LSRLSHHX=FE?-12-33 BREHBEC/IF TEL:082-230-5340 FAX:082-230-6120 F |' ” f F | !JII ;tb A) % ﬁg;ﬁ © Bg*§® AR g rﬂ t “- E mko

ORETS T349-0226 HERKROMHERISS TEL:0480-92-1731 FAX:0480-92-4441 i *ﬁ g% :*15\ —( ﬂ ﬁ ()] E % < E ﬁ E

OHREHSPHS/1 T989-0537 SHENDIHE s BEFHIEISEIS  TEL:0224-37-2211 FAX:0224-37-2213 Y E ﬁi i b ill: e iﬁiﬁ H# - Ill IE :EB & ; U E >7°
B > — LOBmOKEICHR L EHETS, I n n I

= H WA E]
FTACITA




T ——— —y— RASHI

IFERBFICRUILZERED LI SRR CARER DY — LB ZIFRULTIE EIFE T, O SASCRARIES ISR G
TREAELCNSYF DGO TCOARTEZE—EDETHELIFET, (RYDFDRIFTR] == SLTF(S) (528)

RIBIRIE NCHesg S\aRfasm i)
RIS — STT-ESS (HhDIHE)

MmI#H O 1,000

WMY—LURYTLYMCEBHRL  B—BNESIL Y MC&BHRU : T RE | MiOx15 B . .
1 MIKHE  500rpm H#HFEE27m M10x1.5
v

__ 3 - e ”}:l :I.-ﬂ{
] RN L R e T
L LR N B T ia&%}‘ﬁ‘:

:J_L\b\*‘.,: TN, ABRH—FECBYETD, Y— B ESTVBIREE WIED Y — L (#EB) ([CF = JLTEH
BESN. RELTEIE AoTLSRE BHAATUE SRBENBL B ET. O SUJ2tEER 5

1§m£{§u® =E7-)lz SL-TF ({Z#8)
R 4707 — 35007
2 78 M4x0.7 ’
@ADCH — LS ISR 800rpm B#ERE2D

_ RIBIRIE IFEM/C HERESH GHE)

EFIL SL-TF (IZ#8) SLTF 25,0005%
<HE-BE M8x1.25 B7 M8x1.25 el MI%K O 2,500

INT M S=2,500rpm
RIBERIE IIEM/C  SERESH .

== = mIH O 10,000 20,000 ®A60617L—FEB5

\ ) £50L SLTFOS) (BE:R)
— IR -
®A60617' L—F8im ol T&-#E  MI0xX1 1C7 SLTF =30000ﬂ

5L SLTF (@Em) o MTI&FE  2,000rpm M10x1 ‘
k- FEE M4x0.7 B6 = RiBERE H#EIM/C  ANERIGH

MIFHE  S=3,000rp0m &

= = T 0 20,000
BRESE | TRM/C SEeE o e
#ADCYUYS—TOvT | . $AG061ITL—+ilm
EF__ SLTFE) GsiEm) e i o0 B0 B LS )

E-BE | MBx1/M8x1.25 M8x1.25 , 78,0007 . _WAEE MI10x1 167 ZITOLTF [ 0007
M10X1.25/M12x1.25  M10x1.25 70,3007 § MIFH  2500rpm L
(B3hEE2D~3D) M12x1.25 ] DS SRimIRIE IIEM/C NERSEH

=n, 1) ' :

SRR AEERE MI%H O 50 (IZ)OO : ML 0 80.000

.......................................................................................................................................................................... L ERICEECOTOM W B FF YT

eADCy 288  ESDODRFEITI—LLAFITLYH (5ER)

ZC-SL-TF(S) (¥5:xm)

TEE_ MIOXIEX100107 (10015 — 20007 ~ Z-ITSLTF

IIsE 3,000rpm

SRIRERIR HEIM/C

RISy TEDMtE  BEOImRESTYIT LD

AEBHEH2Mpa (B RZ)L—) MIH O 10,000 20,000 . N
.......................................................................................................................................................................... | ONEDQYIO#EOD N ORNENUERRETES
: OO X3 D d+1AF+ HiTE LY ORR-BMRZRLICHE LTSNS
@ADCY — A EBaa OEMEEM[ L OBWRESZZESESND
EFI TC-SL-TF(S) () TC-SLTF OUIb#DFEE(F1/30
TERE  MExX125 B7 (@) | Mox1 25 —
MIZE  2,000rpm 180.0007
RIRRIE BEIM/C  SiE8RHaH
MI% O 10,000
— ZEf = | |
QADCH —REB5a MBxX1.25 220,0005¢
50 TC-ZG-SLTF (S) (AR \110x1.05 : " 5050007 e
TiA-FE M8x1.25/M10%1.25 I | . \" U L < ;;-:»-R“g;-; =
M12x1.25,/M14x1.5 M12x1.25 , 180.0007 : L
(B8 /IEFDUHA) M14x1.5 180,0007% § RUEICEEN B DR E D“I—L‘?l/lzﬂx\yl\l; BEOEES Y T/ \UCEDPT L,
BEEE  WEM/C ! | | SRECNICEET. VB SR




D=LUDAITL YD seamiess TAFLET I=LUAYITLYD seamless TAFLET

D HRUARTEETARIVREIVTEICDLT Minor Diameter of Internal Thread and Side End Mill Size D TIURICDLT Hole Sizes
TR B EDOERIOBENJIIS2H (ISOBHELR) $HaLME  The figures on the left side of the dotted lines in the following HRUARTEZ—EICLIEVWGEEE. TREROU>HHDE  -To keep the minor diameter of internal thread constant, select a
HRRETECT, Y—LAUZYTUYRDYARIVRS)LE  Tables are JIS Class 2 (ISO 6H Class) limit size of the minor 90U LD TIREBEERELTLREE V. (V— LD D LEDI8 hole size of 90+% of thread engagement (some seams are
FHRCAERTENSE%~90%DEHECH EBLS(CE diameter_ of internal threads._The Qnd mill diameter of Seamle_ss ahBbxd.) occasionally left). _ _ _ _
LTHEDET, DRUREE LFBENTUODDDREERD oo oo o0 that the minor diameter of internal thread is 85 - DRUREBOY —LEIRUILMES (S, 0N DRI 19 1eMove searme iy the minor dlameter of interal thread, select
BEDHDBEF. CREOYARIVRIVETRIEVCL If the percentage of thread engagement needs to be changed to LOTFREZREL TEE W,
FIBL.UONDDOEZ EIFDEDRUILIEDY —LIFED  increase internal thread strength, Seamless TAFLET will be Y=LUAYTLYNDTFIER
fEECHbETD, ma_nufacture_d with the desired end mill diameter. Please note that Hole Size for Seamless TAFLET
an increase in percentage of thread engagement tends to leave
the seams on the crest of internal threads. 1224 EvF EHEERS Uoh'h'0E (%) FIF7UE (mm)  Hole diameter (mm) by percentage of thread engagement (%)
Nominal size Pitch Standard tap limit number 105% 100% 95% 90%
M2 0.4 4 1.76 1.77 1.78 1.80
U->hhbERSHRUARTZ (AERL) M2.3 04 a 2.06 207 2.08 2.09
Minor diameter of internal thread by percentage of thread engagement (Coarse screw threads) 847 (Unit) : mm M25 045 a 503 504 206 507
[ EvF U>h hHhbE (%) Percentage of thread engagement M2.6 0.45 4 2.33 2.34 2.36 2.37
NailEl Sike Pliieih 100 95 90 85 80 75 M3 05 5 270 272 273 274
M2 0.4 1.57 1.59 1.61 1.63 1.65 1.68 M35 0.6 5 3.14 3.16 3.18 3.19
M2.3 04 1.87 1.89 1.91 1.93 1.95 1.97 M4 0.7 6 3.58 3.60 3.62 3.64
M2.5 0.45 2.01 2.04 2.06 2.09 2.11 2.13 M5 08 6 452 455 457 459
M2.6 0.45 2.11 2.14 2.16 2.19 221 2.23 M6 0.75 6 5.55 557 5.59 561
M3 0.5 2.46 2.49 251 2.54 2.57 2.59 1 7 5.40 5.43 5.46 5.49
M3.5 0.6 2.85 2.88 2.92 2.95 2.98 3.01 M7 1 7 6.40 6.43 6.46 B6.49
M4 0.7 3.24 3.28 3.32 3.36 3.39 3.43 M8 0.75 7 755 757 7.59 7.61
M5 0.8 413 4.18 4.22 4.26 4.31 4.35 1 7 7.40 7.43 7.46 7.49
M6 1 4.92 497 5.03 5.08 5.13 5.19 1.25 7 7.26 7.29 7.33 7.36
M7 1 5.92 597 6.03 6.08 6.13 6.19 M9 1.25 7 8.26 8.29 8.33 8.36
M8 1.25 6.65 B6.71 6.78 6.85 6.92 6.99 M10 1 7 9.40 9.43 9.46 9.49
M9 1.25 7.65 7.71 7.78 7.85 7.92 7.99 1.25 7 9.26 9.29 9.33 9.36
M10 1.5 8.38 8.46 8.54 8.62 8.70 8.78 1.5 7 9.11 9.15 9.19 9.23
M11 1.5 9.38 9.46 9.54 9.62 9.70 9.78 M11 1 9 10.42 10.45 10.47 10.50
Mi12 1.75 10.11 10.20 10.30 10.40 10.50 10.60 15 10 10.11 10.15 10.19 10.23
M14 2 11.83 11.94 12.05 12.16 12.26 12.37 M12 1 9 1142 11.45 11.47 11.50
M16 2 13.83 13.94 14.05 14.16 14.26 14.37 1.25 12 11.31 11.34 11.38 11.41
M18 25 15.29 1542 15.56 15.69 15.83 16.1 15 10 11.13 1117 11.22 11.26
M20 25 17.29 17.42 17.56 17.69 17.83 18.1 1.75 10 10.98 11.03 11.08 11.13
M14 153 10 13.12 13.16 13.20 13.25
2 11 12.81 12.86 12.92 12.97
M16 1.5 10 15.12 15.16 15.20 15.25
O bERISHRUARTE (IEHRU) 2 1 14.81 14.86 14.92 14.97
Minor diameter of internal thread by percentage of thread engagement (Fine screw threads) 84 (Unit) - mm M8 1 10 17.42 17.45 17.47 1750
76y EvF Uoh hb=E (%) Percentage of thread engagement 1.5 11 17.12 17.16 17.20 17.25
Nominal size Pitch 100 95 90 85 80 75 25 2 16.51 16.58 16.65 16.72
M6 0.75 5.19 5.22 5.27 5.31 5.35 5.39 M20 15 11 19.12 19.16 19.20 19.25
M8 1 6.92 6.97 7.03 7.08 713 7.19 25 12 1851 18.58 18.65 18.72
M8 0.75 7.19 7.22 7.27 7.31 7.35 7.39
M10 1.25 8.65 8.71 8.78 8.85 8.92 8.99
M10 1 8.92 8.97 9.03 9.08 9.13 9.19
M11 1 9.92 9.97 10.03 10.08 10.13 10.19
M12 1.5 10.38 10.46 10.54 10.62 10.70 10.78
M12 1.25 10.65 10.71 10.78 10.85 10.92 10.99
Mi12 1 10.92 10.97 11.03 11.08 11.13 11.19
M14 1.5 12.38 12.46 12.54 12.62 12.70 12.78
M16 1.5 14.38 14.46 14.54 14.62 14.70 14.78
M18 1.5 16.38 16.46 16.54 16.62 16.70 16.78
M20 1.5 18.38 18.46 18.54 18.62 18.70 18.78




D=LUDAITLYD seamless TAFLET

#E:HSSE RHEYUE:TICN

Tap material

Surface treatment

D=L AYITLYB seamiess TAFLET

#ME:HSSE FHEYUE:TICN

Tap material

Surface treatment

P—
@ X—K~)LRUH &£ (Unit) : mm
74574 No. O BtEE k| FRTE (mm) Dimensions [gg#l | 7474 No. [ BftfEE| k| BARAE (mm) Dimensions [iE#
TYPE 1 TYPE 2 TYPE 3 ltemNo.| Nominal size |2c |Limit|Type| L | 2 |Ds| en|Dn| K | gk [lgoel |ltemNo.| Nominal size |2c |Limit|Tyre| L | 2 |Ds| en|Dn| K | 2k [Olgooe
O M9 x1.25 |1C| 7 | 4 |72|18|7 |30|68[55| 8 | 6 O M14 x2 1c| 9 | 3 88|26 |105/42[103|8 [11]| 6
QQW " = ~ T ~ e SN e o SN O M9 x1.25 |1C|8 | 4 |72|18|7 |30|68[55| 8 | 6 O M14 x2 1C| 11| 3 |88|26|105|42[103|8 [11| 6
O M9 x1.25 |1C|9 |4 |72|18|7 |30|68|55| 8 | 6 O M14 x2 B| 9| 3|88|26105/42(103|8 |11] 6
&l I @ I I I @ I I I E & O M9 x1.25 |B |7 |4 |72|18|7 |30|68(55| 8 | 6 O M14 x2 B |11| 3 (88|26 [105/42(103|8 |[11] 6
P) &1 ) ok P ok O M9 x1.25 |B |8 |4 |72|18|7 |30|68|55| 8 | 6 O M14 x1.5 1C| 8 | 3 |88|19|105/42(103|8 [11| 6
en en Lﬂ — en L—w O M9 x1.25 |B |9 |4 |72|/18|7 |30|68|55| 8 | 6 O M14 x1.5 1C| 10| 3 (88|19 |105|42(103|8 [11| 6
| | L | O M10 x1.5 1IC| 7 | 4 |75/19|7 |32|68|55| 8| 6 O M14 x1.5 B|8|3(88|19/105/42(103|8 |[11] 6
O M10 x1.5 1c| 8|4 |75(19|7 |32|68|55| 8| 6 O M14 x1.5 B |10| 3 [88|19105/42(103|8 |11]| 6
TYPE 4 O M10OX1.5 |1C| 9| 4 |75|19|7 |32|68|55 8 | 6 0 M16 x2 1C| 9| 3952612545 123/10 | 13| 6
e %Dn %Ds Ok 18037| M10 X1.5 B|7|4|75/19|7 |32(68|55|8 |6 O M16 x2 1C| 11| 3 |95 |26 (12545 [123|10 (13| 6
e 18038| M10 x1.5 B|8|4|75|19|7 |32(68|55|8 |6 O M16 x2 B| 9| 3|95|26125/45(123/10|13| 6
| 18039| M10 X1.5 B|9|4|75|19|7 |32|68|55| 8 |6 O M16 x2 B |11| 3 |95|26|125/45(123/10|13| 6
| O M10x1.25 |1C| 7 | 4 |75|19|7 |32|68[55| 8 | 6 O M16 X1.5 1C| 8 | 4 (95|19 12545 [123|10 (13| 6
2 2k O M10x1.25 |1C|8 | 4 |75|19|7 |32|68|55| 8 | 6 O M16 X1.5 1C| 10| 4 |95|19 |125|45[123|10 13| 6
£n L O M10x1.25 |1C| 9 | 4 |75|19|7 |32|68|55| 8 | 6 O M16 X1.5 B|8|4|95|19/(125/45(123|10|13| 6
: 02116| M10x1.25 |B |7 |4 |75|19|7 |32|68(55| 8 | 6 O M16 X1.5 B |10| 4 (95|19 [125/45(123|10| 13| 6
02117| M10x1.25 |B |8 |4 |75|/19|7 |32|68(55| 8 | 6 O M18 x2.5 1C| 10| 4 100/33 |14 | 4813811 [ 14| 6
02118| M10x1.25 |B |9 |4 |75|19|7 |32|68|55| 8 | 6 O M18 x2.5 1C| 12| 4 [100/33 |14 | 4813811 [ 14| 6
O M10 X1 1C| 7 | 4 |70[19|7 |32|68|55| 8| 6 O M18 x2.5 B |10| 4 [100/33 |14 |48(138|11 | 14| 6
O M10 X1 1c| 8|4 |70[19|7 |32|68|55| 8| 6 O M18 x2.5 B |12| 4 [100/33 |14 |48(138|11|14| 6
O M10 X1 1C| 9|4 |70[19|7 |32|6.8|55| 8| 6 O M18 x1.5 1C| 9 | 4 (95|19 |14 | 4513811 [ 14| 6
[ P eI 218N Metric (7 (Unit) : mm 40066| M10 X1 B|7|4|7019|7 |32]68|55|8 |6 0 M18 x1.5 |1C|11| 4 |95 |19 14 |45[138[11 [ 14| 6
7474 No. 26} B ¥ k| FAAHE (mm) Dimensions [ighl | 7474 No. Y BfEEfk| FPIRTE (mm) Dimensions s 41778| M10 X1 B|8|4|70|19|7 |32|68|55|8 |6 O M18 x1.5 B|9|4|95/19|14 |45(138[11|14| 6
ltemNo.| Nominal size |c |Limit|Type| L | 2 |Ds| en|Dn| K | ek [lgowel |ltemNo.| Nominal size |8c |Limit|Type| L | 2 |Ds| en|Dn| K | 2k [Olgooe 41779 M10 X1 B|9|4|70|19|7 |32|6.8|55| 8 | 6 O M18 X1.5 B|[11| 4 |[95|19 |14 | 45|138(11 | 14| 6
02092| M2 x0.4 B|4|1|40| 9|3 |15|21|25|5 | 4 O M6 X1 1C| 7 | 3|62|10|6 |24|4a6|45| 7 | 4 O M11 x1.5 B |10| 4 [s0|19(8 |38|78|6 |9 |6 O M18 X1 1C| 8 | 4(80[18|14 |30[138|11 14| 6
02093| M2 x0.4 B|5| 1[40 9/3 |15|21|25|5 | 4 O M6 X1 1C| 8| 3|62|10|6 |24|46|45| 7 |4 O M11 x1 B|9|4|70|18|8 |30|78|6 |9 |6 O M18 x1 1C| 10| 4 |80|18|14 [30/138|11 [14| 6
02094| M2 x0.4 B|e|1]4a0] 9]3 |15]|21|25| 5| 4 O MB X1 1c| 9] 3|e2]10|6 |24la6las| 7| 4 O M12x1.75 |1C| 8 | 4 |82|23|85|38|8.3(65| 9 | 6 O M18 X1 B|8|4|80|18[14 3013811 |14 6
O M2.3x0.4 B|4|1 (42| 9|3 |15|24|25|5 | 4 02110 M6 X1 B|7|3|62|10|6 |24|46|45|7 |4 O M12x1.75 |1C|10| 4 |82|23|85|38|8.3(65| 9 | 6 O M18 X1 B |10| 4 [80|18 |14 |30(138|11 |14 6
O M2.3x0.4 B|5|1[4a2] 9[3 [15]24|25]| 5| 4 02111 M6 X1 B|8|3|e2|10]6 [2alaslas| 7|4 O M12x1.75 |1C|12| 4 |82|23|85|38|8.3|65| 9 | 6 O M20 x2.5 1C| 10| 4 105/33 |15 |50(148|12 | 15| 6
O M2.3x0.4 B|6|1|42| 9|3 |15|24|25| 5 | 4 02112 M6 X1 B|9|3|62|10|6 |24|46|45|7 |4 O M12x1.75 | B |8 | 4 |82|23|85|38|83(65| 9 | 6 O M20 x2.5 1C| 12| 4 105/33 |15 |50[148|12 15| 6
02095| M2.5x0.45 |B |4 |1 |44|10|3 |16|27/|25|/5 | 4 O M6 x0.75 |1C| 6 | 3|62(10|6 |24|46|45| 7 | 4 O M12x1.75 | B |10 4 |82|23|85|38|8.3(65| 9 | 6 O M20 x2.5 B |10| 4 [105/33 |15 |50(148|12 | 15| 6
02096| M25x045 |B |5 |1 |44|10|3 |18]|27/25|5 | 4 0 M6 x0.75 |1c| 7| 3 |e2|10|6 |24la6las| 7] 4 O M12x1.75 | B |12| 4 |82|23|85|38|8.3|65| 9 | 6 O M20 x2.5 B |12| 4 [105/33 |15 |50(148|12|15| 6
02097| M2.5x0.45 |B |6 |1 |44|10|3 |16|27]|25|/5 | 4 O M6 x0.75 |1C| 8 | 3 (62(10|6 |24|46|45| 7 | 4 O M12 x1.5 1C| 8 | 4 |82|23|85|38|83|65| 9 | 6 O M20 x1.5 1C| 9| 4 |95|19 |15 |45[148|12 | 15| 6
02098 M2.6x0.45 |B |4 |1 |44|10|3 |[16|27/|25|5 | 4 O M6 xX0.75 |B |6 |3 |62(10|6 |24|46|45| 7 | 4 O M12 x1.5 1C|10| 4 |82|23|85|38|8.3|65| 9 | 6 O M20 x1.5 1C| 11| 4 |95|19 |15 |45[148|12|15| 6
02099| M2.6x045 |B |5 |1 |44|10|3 |18]|27/25|5 | 4 0 M6 x0.75 |B| 7| 3|62|10|6 |24l|a6las| 7| 4 O M12 x1.5 1C|12| 4 |82|23|85|38|8.3|65| 9 | 6 O M20 x1.5 B|9|4|95|19]15 |45[148|12|15]| 6
02100 M2.6x0.45 |B |6 | 1 |44|10|3 [16|27/|25|5 | 4 O M6 x0.75 |B |8 |3|62(10|6 |24|46|45| 7 | 4 O M12 x1.5 B|8|4|82|23|85/38(83|65|9 |6 O M20 x1.5 B |11| 4 |95|19|15 |45[148|12|15]| 6
O M3 x0.5 1C| 5 | 2 (46|10 |4 [18|23|32|6 | 4 O M7 X1 1C| 7 | 4 |65|10|6.2|26|56|5 |8 |6 O M12 x1.5 B |10| 4 [82|23|85|38|8.3|65| 9 | 6
O M3 x0.5 1IC| 6|2 |46|10|4 |18|23|32| 6 | 4 O M7 X1 1C| 8| 4 |65|10|6.2|26|56|5 |8 |6 O M12 x1.5 B |12| 4 |82|23|85|38|83|65| 9 | 6
O M3 x0.5 1IC| 7|2 |46|10|4 |18|23|32|6 | 4 O M7 X1 1C| 9| 4 |65|10|62|26|56|5 |8 |6 O M12x1.25 |1C| 8 | 4 |80|19|85|38|83|65| 9 | 6
02101| M3 x0.5 B|5|2(46|10(4 |18(23|32|6 | 4 O M7 X1 B|7|4|65|10|62/26|56|5 | 8|6 O M12x1.25 |1C|10| 4 |80|19|85|38|8.3(65| 9 | 6
02102| M3 Xx0.5 B|6|2|46|10|4 |18|23|32| 6 | 4 O M7 X1 B|8|4|65|10|62|26|56|5 |8 |6 O M12x1.25 |1C|12| 4 |80|19|85|38|83|65| 9 | 6
02103| M3 X0.5 B|7|2|46|10(4 |18|23|32| 6 | 4 O M7 X1 B|9|4|65|10|62|26|56|5 |8 |6 O M12x1.25 | B | 8| 4|80|19|85|38|83|65| 9 |6
O M3.5x0.6 1C| 5 | 2 |48[10|4 |18|26|32|6 | 4 O M8 x1.25 |1C| 7 | 4|70|18|62|30|6 |6 |8 |6 O M12x1.256 | B |10| 4 |80|19|85|38|8.3|65| 9 | 6
O M3.5x0.6 1IC| 6|2 |48|10|4 |18|26|32| 6 | 4 O M8 x1.25 |1C| 8| 4|70|18|62|30|6 |5 |8 |6 O M12x1.25 | B |12| 4 |80|19|85|38|83|65| 9 | 6
O M3.5x0.6 1IC| 7|2 |48|10|4 |18|26|32|6 | 4 O M8 x1.25 |1C| 9|4 |70|18|62|30|6 |5 [ 8|6 O M12 x1 1C| 7|4 |70|18|85|30|8.3|65| 9 | 6
O M3.5%0.6 B|5|2(48|10(4 |18|26|32| 6 | 4 02113 M8 x1.25 |B |7 | 4 (70|18|62|30|6 |5 |8 |6 O M12 x1 1C| 9 | 4 |70|18|85|30|8.3|65| 9 | 6
O M3.5x0.6 B|6|2|48|10|4 |18|26|32| 6 | 4 02114 M8 x1.25 |B |8 | 4 (70(18|62|30|6 |5 |8 |6 O M12 x1 1C|11] 4 |70|18|85|30|8.3|65| 9 | 6
O M3.5x0.6 B|7|2|(48|10|4 |18|26|32| 6 | 4 02115 M8 x1.25 |B |9 | 4 (70|18|62|30|6 |5 |8 |6 O M12 x1 B|7|4|70|18|85|30|83|65| 9 | 6
O M4 x0.7 1C| 6 | 2 |52(10|5 |(20(3 |4 |7 | 4 O M8 X1 1C| 7| 4 |70|10|62|30|6 |5 [ 8|6 O M12 X1 B|9|4|70/18|85|30(83|65| 9 | 6
O M4 x0.7 1IC| 7|2 |52|10|5 |20(3 |4 |7 | 4 O M8 X1 1C| 8|4 |70|10|62|30(6 |5 |8 |6 O M12 x1 B|11/4/70|18/85/30/83/65| 9 | 6
O M4 x0.7 1C| 8|2 |52|10|5 |20(3 |4 |7 | 4 O M8 X1 1C| 9|4 |70|10|62|30|6 |5 |8 |6 e e R
02104 M4 x0.7 |B |6 2 |52]10|5 |20|3 |4 |7 | 4 0 | m8 xi B| 7|4 |70[10l62]/30(6 |5 | 8|6 - AR (3 28k UIRSER ORISR T Y.
02105] M4 x0.7 B|7|2]s2]l10[5 |20l3 |4 [ 7] 4 0 M8 x1 B|ls|al|70|10/62/30/6 |5 | 8|86 - The recommended tap limit in [ZZ]corresponds to JIS Class 2 internal thread standard.
02;’6 M4 x07 |B 2 2 Zg 18 :5 E] N I I g MBI E 3 4 Zg :8 oo Sl c S B C c BffEBESE. 16 (11L) - B (21L) O2@EDSBhET,
M5 x0.8 1C 5|22|39]45| 7 | 4 M8 x0.75 |1C 4 6.2/30|6 |5 | 8|6 s BE .
O M5 x0.8 1IC| 7 | 2 |60|10|55|22|39|45| 7 | 4 O M8 x0.75 |1C| 8 | 4 |62|10|62|30|6 |5 |8 |6 * LBSPISERTY St F CHRLEDE L,
O M5 x0.8 1C| 8 | 2 |60|10|55|22|39|45| 7 | 4 O M8 x0.75 |1C| 9| 4 |62|10|62|30|6 |5 |8 |6
02107| M5 X0.8 B|6|2|60|10|55/22(39|45| 7 | 4 O M8 x0.75 |B| 7| 4|62|10|62|30|6 |5 |8 |6
02108| M5 x0.8 B|7|2|60|10|55|22(39|45| 7 | 4 O M8 x0.75 |B |8 |4 |62|10|62|30|6 |5 |8 |6
02109| M5 X0.8 B|8|2|60|10|55/22|39|45| 7 | 4 O M8 x0.75 |B| 9|4 |62|10/62|30/6 |5 |8 |6

P REAHEL Continued to next page



OYJ9=LUAITUYN seamiess TAFLET 59=LUATTYM seamless TAFLET,
t#8 :HSSE =REAIE:TICN #E . HSSE FmEYUIE:TICN

Tap material Surface treatment Tap material Surface treatment

LT-SL-TF LT-SL-TF

= ——— - 1 0 X—hILRUR @ED 84 (Unit) : mm
7474 No. 236y BftEERR| FARE (mm) Dimensions fgig#| | 7474 No. 276 B$EE R FARTE (mm) Dimensions g
Item No.| Nominal size 2c |Limit|Type| L | 2 |Ds| 2n|Dn| K | gk [0igwe{ [ltemNo.| Nominal size 2c |Limit|Type| L | 2 |Ds| 2n|Dn| K | gk [0igoe
O M8 x1.25 [1C| 7 | 4 100[18|6.2/30]/6 |6 |8 |6 O M10 x1.5 B 74 heol19]7 [32]6.8][65]/8 |6
TYPE 2 TYPE 3 TYPE 4 [ M8 x1.25 [1C| 8| 4 100/18|6.2/30]/6 |5 | 8|6 O M10 x1.5 B| 8|4 heol19]7 [32]68]|55/ 8|6
[ M8 x1.25 |[1C| 9| 4 100/18|62|30]/6 [5 | 8|6 O M10 x1.5 B| 9|4 heol19]7 [32]68]|65/8 |6
®Dn %Ds O 2 ®Dn ?ps Ok ?pn ?Ds o 02137| M8 x1.25 |B |7 |4 hoo/18|62|30|6 |5 |8 |6 O | Miox15 [1Cc[7 |4 hi5019|7 [32]68|65|8 |6
QCW e [ K G o [ [ K 02138] M8 x1.25 | B |8 4 100/18|6.2|30/6 [5 [8] 6 O M10 x1.5 1C| 8 | 4 150/19 |7 |32|6.8|55| 8 | 6
02139] M8 x1.25 | B |9 ]| 4 100/18|6.2/30/6 [5 [ 8] 6 O M10 x1.5 1c| 9| 4 50(19]7 |32]6.8[55| 8 | 6
| I } } I E O M8 x1.25 |[1C| 7 | 4 h20/18|6.2/30]/6 |5 |8 | 6 18043| M10 x1.5 B[ 7|4 hs019]7 [32|68][65[8 |6
O M8 x1.25 [1C| 8| 4 120/18|6.2/30|6 |5 |8 |6 18044| M10x1.5 B| 8|4 i50/19]7 [32]6.8]|65/8 |6
L2 | 8k L2 2k [/ 2k O M8 x1.25 [1C| 9| 4 120/18|6.2/30]/6 |5 |8 |6 18045| M10 x1.5 B| 9|4 hs0/19]7 [32]68]|55/ 8|6
en L £n L en . O | M8 x1.25 |B | 7] 4|i2018|62|30]6 |5 | 8|6 0 | Miox1.25 |1c| 7| 4 loolio|7 |32|68(55| 8| 6
| | | O M8 x1.256 | B[ 8| 4 120/18(6.2/30]6 |5 |8 |6 O M10x1.25 [1C| 8 | 4 hool19|7 |32(68|55|8 | 6
O M8 x1.25 | B | 9|4 120/18|62/30]|6 |5 |8 |6 O M10x1.25 [1C| 9 | 4 hool19|7 |32[68|55| 8 | 6
O M8 x1.25 [1C| 7| 4 h50/18|6.2/30]/6 |5 |8 |6 02143] M10x1.25 | B | 7| 4 hool19|7 |32[68|55/ 8 |6
O M8 x1.25 [1C| 8 | 4 150/18|6.2/30]/6 |5 |8 | 6 02144] M10x1.25 | B |8 | 4 10o0/19|7 |32]6.8|55/8 | 6
_ N ; L O M8 x1.25 [1C| 9| 4 150/18|6.2/30|6 |5 |8 |6 02145| M10x1.25 | B | 9| 4 100/19|7 |32[68|55/ 8 | 6
@ X—hILRUH @RI Bz (Unit) : mm 02140] M8 x1.25 | B |7 | 4 15018|6.2/30(6 |5 | 8|6 00 | miox1.25 |1c| 7| 4 12019|7 |32|6855| 8 | 6
7474 No. 2243 BtEE k| FIRE (mm) Dimensions figg# | 7454 No. 2983 BtEE k| BIKYE (mm) Dimensions [zsl 02141| M8 x1.25 B|8|4[15018|6.2/30|6 |5 | 8|6 O M10x1.25 [1C| 8 | 4 [120/19|7 |32|6.8|55| 8 | 6
ltem No.| Nominal size |&c |Limit[Type| | | 2 |Ds| en|Dn| K | gk [llgoe| [ltemNo.| Nominal size |2c |Limit|Type| | | 2 |Ds| en|Dn| K | 2k [0igowe 02142] M8 x1.25 B| 9| 415018|6.2|30|6 |5 | 8|6 O M10 x1.25 1C| 9 | 4 n120[19|7 |32|6.8|55| 8 | 6
] M3 x0.5 1C|[ 5| 270|104 |18|24|32| 6 | 4 O M5 x0.8 B |6 | 3 120[10|55|22|39(45| 7 | 4 O M8 x1 1c| 7| 4 hool18|6.2]30]6 |5 [ 8] 6 O M10x1.25 [B | 7| 4 h20/19|7 |32[68|55/8 |6
O M3 x0.5 1C| 6| 2|70/10|4 [18]24[32| 6| 4 O M5 x0.8 B| 7|3 120/10|656[22(39[45] 7 | 4 O M8 x1 1C| 8| 4 iool18|6.2]30/6 |5 [ 8] 6 0 M10x1.25 | B |8 |4 120/19|7 |32(68|55/ 8 | 6
] M3 X0.5 C| 7| 2|70|10|4 |[1824[32| 6 | 4 O M5 x0.8 B| 8| 312010 |55[22|39]4a5| 7 | 4 O M8 x1 1C| 9 [ 4 hool18|6.2]30]6 |5 [ 8] 6 O M10x1.25 |B |9 |4 120/19|7 [32]68|55/8 |6
O M3 x0.5 B|[5| 270|104 |18[24[32[6 | 4 O M5 x0.8 1C[ 6| 3160/10|55|22[398[45] 7 | 4 O M8 x1 B| 7|4 hool18]62[30]6 |5 |86 0 M10x1.25 [1C| 7 | 4 h50/19|7 |32]6.8|55/ 8 | 6
O M3 X0.5 B|6|2|70(10(4 |[18]|24|32|6 | 4 O M5 x0.8 1C| 7 | 3 150/10|55[22(39[45] 7 | 4 O M8 x1 B| 8|4 io018/6.2[30]6 |5 |8 |6 O M10x1.25 |[1C| 8 | 4 150/19|7 |32|6.8|55| 8 | 6
O M3 x0.5 B|7|2|70/10(4 |18|24|32|6 | 4 O M5 x0.8 1C| 8 | 3[150[10|55]/22(39[45| 7 | 4 O M8 x1 B| 9|4 ioo18(62[30]6 [5 [8]|6 O M10x1.25 [1C| 9 | 4 150/19|7 |32[68|55| 8 | 6
O M3 X0.5 1C| 5| 2 100/10|4 |[18]24[32| 6| 4 02128] M5 x0.8 B | 6| 3 15010|55[22(39[45| 7 | 4 [ M8 x1 1C| 7] 4 1e0l18|62]30/6 |5 [ 8] 6 02146| M10x1.25 |B |7 | 4 150/19|7 |32(68|55|8 | 6
] M3 X0.5 1C| 6 | 2 100/10 |4 |[18]24[32| 6 | 4 02129 M5 x0.8 B| 7|3 150/10(55[/22|39]/4a5| 7 | 4 O M8 x1 1c| 8| 4 1e0/18|6.2]30]6 |5 [ 8] 6 02147] M10x1.25 | B |8 | 4 150/19|7 |32[6.8|55|/8 | 6
O M3 x0.5 1C| 7| 2 1o0/10|4 |18(24|32| 6 | 4 02130 M5 x0.8 B| 8|3 15010|65[/22(39]45| 7 | 4 O M8 x1 1C| 9] 4 1e0/18|6.2]30/6 |5 [ 8] 6 02148] M10x1.25 | B |9 | 4 150/19|7 |32[68|55/8 | 6
02119] M3 Xx0.5 B |5 | 2100104 |18|24[32(6 | 4 O M6 X1 1C| 7| 31o0/10|6 [24]46[4a5] 7| 4 O M8 x1 B| 7|4 eol18/62[30]6 [5 [8]|6 O M10 x1 1c| 7| 4 hool19|7 [32]6.8|55| 8 | 6
02120 M3 X0.5 B| 6|2 100104 |18[24[32[6 | 4 O M6 X1 1C| 8 [ 3[100[10|6 [24]46[45| 7 | 4 O M8 x1 B| 8|4 120/18]6.2[30]6 |5 |8 |6 0 M10 x1 1c| 8 | 4 hool19|7 [32]6.8|/65| 8 | 6
02121 M3 Xx0.5 B| 7| 2100104 |[18]|24|32|6 | 4 O M6 X1 1C| 9 [ 3100/10|6 [24]46]45] 7| 4 O M8 x1 B| 9|4 ie0/18]62[30]6 |5 |8 |6 O M10 x1 1C| 9 | 4 o019 |7 |32|6.8|55| 8 | 6
] M3 X0.5 1C| 5| 2 120/10|4 |[18]24[32| 6| 4 02131 M6 X1 B| 7| 3ooj10]6 [24]|a6|a5] 7| 4 O M8 x1 1c| 7| 4 150/18|6.2]30]6 |5 [ 8] 6 41917 M10 x1 B| 7|4 hool19|7 [32]6.8]|55/ 8|6
O M3 x0.5 1C| 6 | 2 120/10|4 |18|24|32| 6 | 4 02132] M6 x1 B| 8| 3100106 [24]46]45] 7| 4 O M8 x1 1C| 8| 4 150/18|6.2]30]/6 |5 [ 8] 6 41918] M10 x1 B| 8|4 hool19|7 |32]68|55/ 8|6
O M3 x0.5 1C| 7| 2 120104 [18]24[32| 6 | 4 02133] M6 X1 B| 9|3 iooj10(6 [24]a6|a5] 7| 4 O M8 x1 1c| 9| 4 150/18|6.2]30]6 |5 [ 8] 6 41919] M10 x1 B[94 hoo9]7 [32|68][65[8 |6
O M3 x0.5 B|[5| 2 120[10|4 |18[24[32[6 | 4 O M6 X1 1C[ 7| 3120106 [24]46[45| 7 | 4 O M8 x1 B| 7|4 5018/62[30]6 |5 |86 O M10 x1 1c| 7| 4 heol19|7 [32]6.8|65| 8 | 6
O M3 x0.5 B| 6|2 120[10[4 |[18]|24|32|6 | 4 O M6 X1 1C| 8| 3120/10|6 |[24]46]4a5] 7| 4 O M8 x1 B| 8|4 15018/6.2[30]6 |5 |8 |6 O M10 x1 1c| 8 | 4 heol19|7 [32]6.8|55| 8 | 6
O M3 X0.5 B| 7|2 120104 |18|24|32|6 | 4 O M6 X1 1C| 9| 3120/10|6 |[24]4a6]4a5] 7| 4 O M8 x1 B| 9|4 i5018/62[30]6 |5 |8 |6 O M10 x1 1c| 9 | 4 heol19|7 [32]6.8|65| 8 | 6
O M3.5%0.6 1IC[B| 2]70/10|4 [26]4 [32| 6| 4 O M6 X1 B| 7|3 h20/10]6 [24]4a6l45] 7| 4 [l M8 x0.75 [1C| 7| 4 hool1o0|6.2/20]6 |5 |8 |6 O M10 x1 B|7|4h20/19|7 |32|68|65| 8 | 6
O M3.5%0.6 1C| 6| 2|70|10|4 [26]4 32| 6| 4 [ M6 X1 B| 8| 3120106 |[24|a6la5| 7| 4 O M8 x0.75 [1C| 8 | 4 100/10|6.2/20]/6 |5 |8 |6 O M10 x1 B|8|420/19|7 |32(68|55| 8 |6
[} M3.5x0.6 1C| 7] 2]70]10]4 [26]4 [32] 6] 4 ] M6 X1 B|9|3[120/10|6 |24|46|45]| 7 | 4 0 M8 x0.75 [1C| 9 | 4 [100/10|6.2/20|6 |5 | 8 | 6 | M10 x1 B|9|412019|7 |32|68|55| 8 | 6
O M3.5%0.6 B|5|2|70(10(4 [26|a [32|6 | 4 O M6 X1 1C[ 7| 3150/10|6 [24]46[4a5] 7| 4 O M8 x0.75 | B | 7| 4 100/10|62/20]/6 |5 |8 |6 O M10 x1 1c| 7| 4 hs019]7 |32]6.8[55] 8 | 6
] M3.5%0.6 B|6|2|70(10(4 |26|a |32|6 | 4 O M6 X1 1c| 8| 3[160[10|6 [24]4a6]45| 7 | 4 O M8 x0.75 [ B |84 100/10|62/20]/6 |5 |8 |6 O M10 x1 1c| 8 | 4 hs0l19]7 [32]6.8|65| 8 | 6
O M3.5%0.6 B|7|2|70[10[4 [26]|a [32|6 | 4 O M6 X1 1C| 9 [ 3160/10|6 [24|46[46] 7| 4 O M8 x0.75 | B |9 |4 100/10|62/20]/6 |5 |8 |6 O M10 x1 1C| 9 | 4 150[19|7 |32|6.8|55| 8 | 6
] M3.5%0.6 1C| 5| 2 100/10|4 [26]4 32| 6| 4 02134 M6 X1 B| 7| 3150106 |[24|a6la5| 7| 4 0 M8 x0.75 |[1C| 7| 4 [120[10]|62|20]6 |5 | 8| 6 42055 M10 x1 B| 7|4 hs0/19]7 [32]68]|55/ 8|6
O M3.5%0.6 1C| 6 | 2 100/10|4 [26]4 [32| 6| 4 02135] M6 x1 B| 8| 3150106 [24]46]45| 7| 4 O M8 x0.75 [1C| 8| 4 [120/10/6.2/20]6 [5 [ 8|6 42056 M10 x1 B| 8|4 h50/19|7 |32]68|55/8 |6
O M3.5%0.6 1C| 7| 2 1oo/10(4 (264 32| 6| 4 02136| M6 X1 B| 9| 3150106 |[24|a6la5| 7| 4 [ M8 x0.75 [1C| 9| 4 120/10/6.2/20]6 |5 |8 | 6 42057| M10 x1 B| 9|4 h50/19]7 [32]6.8]|55/ 8|6
O M3.5%0.6 B| 5|2 100104 |26|4a |32|6 | 4 O M6 x0.75 |1C| 6 | 3 |100[10|6 |24|46(45| 7 | 4 O M8 x0.75 | B[ 7| 4 120/10|62[20]6 [5 [ 8|6 O M11 x1.5 B 10| 4 hs0l19/8 [38|78|6 |9 |6
O M3.5%0.6 B| 6| 2100104 [26|4a [32|6 | 4 O M6 x0.75 |1C| 7 |3 [100[10|6 |24|46/45] 7| 4 O M8 x0.75 | B |8 |4 120/10|62/20|6 |5 |8 |6 O M11 x1 B|9|45018|8 |30(78|6 |9 |6
O M3.5%0.6 B| 7|2 1ooj10[4 [26|a [32|6 | 4 O M6 x0.75 |1C| 8 | 3 [100[10|6 |24|46[45] 7| 4 O M8 x0.75 | B[ 9|4 120/10|62[20]6 [5 |8 |6 0 M12x1.75 [1C| 8 | 4 150/23 |85|38(8.3|65| 9 | 6
O M3.5%0.6 1IC|[ 5| 2120/10|4 [26]4 [32| 6| 4 O M6 x0.75 | B |6 | 3[100[10|6 |24|46]456[ 7| 4 O M8 x0.75 |[1C| 7 | 4 50/10|6.2/20]/6 |5 |8 | 6 O M12x1.75 |1C|10| 4 15023 |8.5/38(8.3|65| 9 | 6
O M3.5%0.6 1C| 6 | 2 120/10|4 [26]4 32| 6| 4 O M6 x0.75 |B | 7 | 3[100[10|6 |24]46]aE] 7] 4 0 M8 x0.75 |1C| 8 | 4 150/10|6.2[20]6 [5 |8 |6 O M12x1.75 [1C|12| 4 150/23 |8.5/38(8.3|65| 9 | 6
O M3.5%0.6 1C| 7 | 2 120[10|4 |[26]4 |32| 6| 4 O M6 x0.75 | B |8 | 3|100[10|6 |24|46|45| 7| 4 O M8 x0.75 [1C| 9 | 4 150/10|6.2/20]/6 |5 |8 | 6 O M12x1.75 | B |8 | 4 150/23|85|38(83|65| 9 | 6
O M3.5%0.6 B| 5|2 120[10(4 [26]|4a [32|6 | 4 O M6 x0.75 |1C|[6 | 3 [120[10|6 |24|46[45] 7| 4 O M8 x0.75 | B | 7| 4 150/10|62(20]6 [5 |86 O M12x1.75 | B |10| 4 150/23 |85|38(8.3|65| 9 | 6
O M3.5%0.6 B| 6|2 120104 |[26]|a |[32|6 | 4 O M6 x0.75 |1C| 7 | 3 120[10|6 |24|46[45] 7| 4 O M8 x0.75 | B |84 150/10|62(20]/6 |5 |8 |6 O M12x1.75 | B |[12]| 4 150/23 |8.5/38(8.3|65| 9 | 6
O M3.5%0.6 B| 7|2 120[10(4 [26]|4 [32|6 | 4 O M6 x0.75 |1C| 8 | 3 [120[10|6 |24|46]456] 7| 4 O M8 x0.75 | B | 9| 4 150/10|62]|20]6 |5 |8 |6 O M12 x1.5 1c| 8 | 4 15023 |85|38(8.3/65] 9 | 6
O M4 x0.7 iC| 6| 2|70/10|56 [20(3 |4 | 7| 4 O M6 X0.75 | B |6 | 4 120[10|6 |24|46]4a5] 7| 4 O M9 x1.25 [1C| 7 | 4 hoo[18|7 [30|6.8|65| 8| 6 O M12 x1.5 1c|10] 4 1s0/23|85|38|8.3[65] 9 | 6
O M4 x0.7 1C| 7| 2|70/10|56 |20(3 |4 | 7| 4 O M6 x0.75 | B | 7 | 4 120[10|6 |24|46|45| 7 | 4 [ M9 x1.256 [1C|[ 8| 4 100[18|7 [30]68][55| 8| 6 O M12 x1.5 ic|12] 4 15023 |85|38(8.3|65] 9 | 6
O M4 x0.7 iC| 8| 2]70/10|6 [20]3 |4 | 7| 4 O M6 x0.75 | B |8 |4 [120[10|6 |24]46l45[ 7| 4 [ M9 x1.256 |1C| 9| 4 [100/18|7 [30|68|55/ 8| 6 O M12 x1.5 B[ 8|4 i5023[85[38|8.3[65[ 9 | 6
O M4 Xx0.7 B|6|2|70(10(6 |20|3 |4 |7 | 4 O M6 x0.75 |1C|6 | 4 150(10|6 |24|46[45] 7| 4 O M9 x1.26 [ B[ 7|4 1o0/18|7 [30]e8][55| 8| 6 O M12 x1.5 B [10]| 4 15023 [85|38|8.3]65[ 9 | 6
O M4 x0.7 B|7|2|70(10(5 [20|3 |4 |7 | 4 O M6 x0.75 |1C| 7 | 4 160(10|6 |24|46/456] 7| 4 O M9 x1.256 [ B[ 8| 4 100/18|7 [30|6.8[55| 8| 6 O M12 x1.5 B |12]| 4 hs0/23 |85[38[8.3|/65] 9 | 6
O M4 x0.7 B|8|2|70(10(5 |20|3 |4 |7 | 4 O M6 x0.75 |1C| 8 | 4 [160(10|6 |24|46[45] 7| 4 O M9 x1.256 [ B[94 100/18|7 [30]6e8|[65| 8| 6 O M12x1.25 [1C| 8 | 4 150/19|85|38(8.3|65| 9 | 6
O M4 x0.7 1C[ 6| 2 100/10|5 |20(3 |4 | 7| 4 O M6 x0.75 | B |6 | 4 150[10|6 |24|46|45| 7 | 4 [ M9 x1.256 [1C|[ 7| 4 120[18|7 [30|68[55|/8 | 6 O M12x1.25 |1C|10| 4 [150/19|85|38|8.3|65| 9 | 6
O M4 x0.7 1C| 7| 21o0/10|6 [20(3 (4 | 7| 4 O M6 x0.75 | B |7 |4 [160[10|6 |24|46/45[ 7] 4 O M9 x1.25 [1C| 8| 4 [120/18|7 |30/6.8|55| 8 | 6 O M12x1.25 [1C[12] 4 15019 |8.5|38[8.3|65| 9 | 6
] M4 x0.7 1C| 8| 2 100/10(56 [20(3 |4 | 7| 4 [ M6 x0.75 |B |8 | 4 [150[10|6 |24|46/45] 7| 4 [ M9 x1.256 [1C[ 9| 4 120/18|7 [30]68]|55|/ 8| 6 O M12x1.25 | B |8 | 4 150/19/85|38(8.3|65| 9 | 6
02122] M4 X0.7 B| 6| 2100105 [20|3 [4 |7 | 4 O M7 X1 1C[ 7] 4 1ool10|6.2]26|58[5 [ 8| 6 O M9 x1.256 | B | 7| 4 120187 [30]68|55/ 8| 6 O M12x1.25 | B [10] 4 150/19 85|38[8.3|65| 9 | 6
02123] M4 x0.7 B| 7|2 1ooj10(5 |20|3 |4 |7 | 4 O M7 X1 1C| 8 | 4 hoo/10|6.2/26(58[5 | 8| 6 O M9 x1.26 [ B [8 |4 120/18|7 [30]68|55| 8| 6 O M12x1.25 | B [12] 4 150/19 85|38[8.3|65| 9 | 6
02124] M4 X0.7 B| 8|2 100105 |20|3 |4 | 7| 4 O M7 X1 1C| 9 | 4 1oo/10|6.2|26(58[5 | 8 | 6 O M9 x1.256 [ B[ 9|4 120/18|7 [30|68[55| 8| 6 ] M12 x1 1c| 7 | 4 15018 |85|30(8.3/65] 9 | 6
O M4 x0.7 C| 6| 2 120/10|56 [20(3 |4 | 7| 4 O M7 X1 B| 7| 4 hool1o|62]/26|58|5 |8 |6 O M9 x1.256 [1C| 7| 4 150/18|7 [30]68|65| 8| 6 O M12 x1 1c| 9| 4 15018 |85|30(8.3/65[ 9 | 6
O M4 x0.7 1C| 7 | 2 120[10|6 |20(3 |4 | 7| 4 O M7 X1 B| 8|4 100/10|62/26|58|5 |8 |6 [ M9 x1.256 [1C|[ 8| 4 150/18|7 [30|6.8[55|/ 8| 6 O M12 x1 1c|11] 4 15018 |85|30(8.3/65[ 9 | 6
O M4 x0.7 iC| 8| 2120/10|6 [20(3 (4 | 7| 4 O M7 X1 B| 9|4 hoolio|62]26|58]56 |86 O M9 x1.25 [1C| 9| 4 150/18|7 [30|6.8|65| 8 | 6 O M12 x1 B|7 |4 hs018[85[30|8.3[65[9 |6
] M4 X0.7 B| 6|2 120[10(5 |[20|3 |4 |7 | 4 O M7 X1 1C| 7| 4 heol10|62/26(58[5 | 8| 6 O M9 x1.26 [B|[ 7|4 150(18|7 [30]68][55|/ 8| 6 O M12 x1 B| 9|4 hs0/18[85[30[8.3|65/ 9 | 6
O M4 X0.7 B| 7|2 120[10|5 |20|3 |4 | 7| 4 O M7 X1 1C| 8 | 4 120/10|6.2]26|58[5 [ 8| 6 O M9 x1.256 [ B[ 8|4 15018|7 [30|6.8[55| 8| 6 O M12 x1 B |11 4 hsol18|85[30[8.3|65/ 9 | 6
O M4 x0.7 B| 8|2 120[10(5 |[20|3 |4 |7 | 4 O M7 X1 1C| 9 | 4 heo/10|6.2|26[58[5 | 8| 6 O M9 x1.256 [ B[94 150(18|7 [30]68|55| 8| 6 O M14 x2 1c| 9 | 4 150/26 [105/42[103[8 [11] 6
] M5 x0.8 TC[ 6 | 2 [100/10|55|22(39(45| 7 | 4 [ M7 X1 B| 7| 4 N20/10|6.2|26|58|5 | 8| 6 [ M10 x1.5 1C| 7| 4 hoo/19|7 |[32]68|55| 8| 6 O M14 x2 1c[11] 4 150/26 [105/42]103[8 [11] 6
O M5 x0.8 TC| 7 | 2 100/10|65|22(39(45| 7 | 4 O M7 X1 B| 8|4 12010 |62]/26|58|56 |8 | 6 O M10 x1.5 1c| 8| 4 [100/19|7 [32]68]55| 8| 6 O M14 x2 B |9 | 4 5026 [105[42][103[8 [11] 6
O M5 x0.8 TC| 8 | 2 [100/10|55|22(39(45| 7 | 4 O M7 X1 B| 9| 4 120/10|62|26|68|56 | 8 | 6 [ M10 x1.5 1C| 9| 4 hool19|7 [32]68|55] 8| 6 O M14 x2 B [11] 4 hs0/26[105/42]103[8 [11] 6
02125 M5 x0.8 B | 6| 2 [100/10|65|22|39(45| 7 | 4 O M7 X1 1C[ 7| 4 16010 |6.2]26(58(5 | 8 | 6 18040 M10 x1.5 B| 7|4 hoo19]7 [32]68|55/ 8|6 O M14 x1.5 1c| 8 | 4 15019 |105/42[103[8 [11] 6
02126] M5 x0.8 B| 7|2 [100/10|55/22(|39(45| 7 | 4 O M7 X1 1C| 8 | 4 15010 |6.2]26(58(5 | 8 | 6 18041| M10x1.5 B| 8|4 100/19|7 [32]68|55/ 8|6 O M14 x1.5 1c|10] 4 1s0/19[105/42]103[8 [11] 6
02127| M5 x0.8 B| 8|2 |10010|55|22(39(45| 7 | 4 O M7 X1 1C| 9 | 4 160/10|6.2|26(58(56 | 8 | 6 18042| M10 x1.5 B| 9|4 iooj19]7 |32]|e8|55| 8|6 O M14 x1.5 B| 8|4 hsol19[105/42]103[8 [11] 6
O M5 x0.8 1C| 6 | 2 120/10|65|22(39(45| 7 | 4 O M7 X1 B| 7| 4 150/10(62/26|58|5 |8 |6 O M10 x1.5 1C| 7] 4 1e0/19|7 [32]68|55[ 8| 6 O M14 x1.5 B [10] 4 hso[19105[42]103[8 [11] 6
] M5 x0.8 1C| 7 | 2 120/10|55|22(39(45| 7 | 4 0 M7 X1 B| 8|4 156010 |62/26|68|6 |8 |6 [ M10 x1.5 1C| 8| 4 120/19|7 [32]68|55| 8 | 6 »REAH Continued to next page

O M5 x0.8 1C| 8 | 2 120/10|55|22(39(45| 7 | 4 O M7 X1 B| 9|4 150(10(62/26|658|56 |8 |6 [ M10 x1.5 1C| 9| 4 120/19|7 |32]68|55]/ 8| 6

pREAFEK Continued to next page



LT-SL-TF

025Y=LUAFIV I scaniess TAFLET, Long Shan
#ME:HSSE FREXUE:TICN

Tap material

Surface treatment

@ X —hILRLH

B (Unit) : mm

Y=L UAT TV ML.SP seamiess TAFLET 1.5p

#E:HSSE REME:TICN

Tap material

Surface treatment

SL-TF-1.5P

- FEEHMDOLCIF 21k 1a UCESEINDOHEEREE T,

- The recommended tap limit in [ZJcorresponds to JIS Class 2 internal thread standard.

e HIFFFIEEETT . SHFETHBRLEDELEEL.

7474 No. 226y BtEE L FIRTE (mm) Dimensions g | 7474 No. IO Bf¥EE k| FIXE (mm) Dimensions jg#
Item No.| Nominal size ec |Limit|Type| L | 2 |Ds| e2n|Dn| K | 8k [ligwe[ [Item No.| Nominal size ec |Limit|Type| L | 8 |Ds| en|Dn| K | ek [igwe
0 |[M16x2 1C| 9 | 4 150/26 |125/45(123|10 | 13| 6 0 |[M18 x2.5 1C| 10| 4 |200/33 |14 |48138/11 14| B Lassdasssssssia i _ )
0 |M16x2 1C|11| 4 |150/26 |125/45(123|10 | 13| 6 [J |M18 x2.5 1C| 12| 4 |200/33 |14 |48|138/11 14| 6 M
0 |[M16x2 B |9 |4 (15026 |125/45|123|10 | 13| 6 0 |M18 x2.5 B |10| 4 |200/33 |14 |48|138/11 14| 6
0 |M16x2 B |11| 4 [150/26 |125/45[123|10 | 13| 6 [0 |M18 x2.5 B |12| 4 |200/33 |14 |48|138/11 | 14| 6
0 |M16x2 1C| 9 | 4 |200/26 |125/45(123|10 | 13| 6 0 |M18 x1.5 1C| 9| 4 |200/19 |14 |45|138/11 14| B
0 |M16x2 1C|11| 4 |200|26 |125/45(123|10 | 13| 6 [0 |M18 x1.5 1C| 11| 4 |200/19 |14 |45|138/11 | 14| 6 TYPE 2 TYPE 3 TYPE 4
0 |[M16x2 B |9 | 4 |200/26 |125/45|123|10 | 13| 6 0 |M18 x1.5 B|9|4[20019|14|45|138/11 14| 6
0 |M16x2 B |11| 4 |200|26 |125/45 |123|10 | 13| 6 [0 |M18 x1.5 B |11| 4 |200/19|14 |45|138/11|14| 6 %6 #Dn %Ds Ok 2 %Dn %ps 8% 2 %Dn ®Ds Ok
0 [M16x1.5 1C| 8 | 4 |150/19 |125/45(123|10 | 13| 6 [0 |M20 x2.5 1C| 10| 4 |200/33 |15 |50148/12 15| 6 T = T
[ [M16x1.5 1C|10| 4 [150/19 |125/45(123|10 | 13| 6 [J |M20 x2.5 1C| 12| 4 |200/33 |15 |50(148/12 | 15| 6 | I | ol = /*6 %
0 [M16x1.5 B |8 |4 [150/19|125/45|123|10 | 13| 6 [0 |M20 x2.5 B |10| 4 |200/33 |15 |50|148/12 | 15| 6 | I I ] = \/ é}»
J [M16x1.5 B |10| 4 |150/19 |125/45|123|10 | 13| 6 [J |M20 x2.5 B | 12| 4 |200/33 |15 |50(148/12 | 15| 6 2 %1 ok 2 %
0 [M16x1.5 1C| 8 | 4 |200/19 |125/45(123|10 | 13| 6 [0 |M20 x1.5 1C| 9| 4 |200/19 |15 |45|148|12 15| B — pn on Lﬂ on
[ [M16x1.5 1C| 10| 4 |200/19 |125/45(123|10 | 13| 6 [J |M20 x1.5 1C| 11| 4 |200/19 |15 |45|148/12 | 15| 6 L | L | L |
0 [M16x1.5 B |8 |4 |200/19 |125/45|123|10 | 13| 6 [ |M20 x1.5 B|9|4[20019|15|45|148/12 15| 6
[J [M16x1.5 B |10| 4 [200/19 |125/45[123/10 | 13| 6 ] |M20 x1.5 B |11]| 4 |200/19|15|45|148/12 15| 6
- FBEERO 28k R UIHSEINDHERIEE T,

The recommended tap limit in :Icorre?pcinds to JIS Class 2 internal thread standard. @ X —NLRLH P
s BRIEEREE. 1C (1L - B (2W1) O21&EHHDET, TAN — ~ = o R e T
* LISHPISTERTY . S FTBHNEDE LW, ’ Ite?;w No.o. Nominal size Lc Li?'nyi} T;/pe L : 2 ; Ds 2n Dn K 2K 6i| éroove

18046 M 3 X05 1.5P 5 2 100 10 4 18 2.3 3.2 6 4
o O M 3 X0.5 1.5P 6 2 100 10 4 18 2.3 3.2 6 4
Eﬁiy— LULAYTLYb Tungsten Carbide Seamless Taflet O M 3 x05 15P 7 2 100 10 a 18 2.3 32 6 4
TC-SL-TF _————————— " 18047 M 4 x0.7 ) B 2 100 10 5 20 3 a 7 4
iﬁ%téri\!lvc O M 4 Xx0.7 1.5P 7 2 100 10 5 20 3 4 7 4
| M 4 Xx0.7 [ESE 8 2 100 10 5 20 3 4 7 4
18048 M 5 XxX0.8 1.5P 6 2 100 10 5.5 22 3.9 4.5 7 4
[ M 5 x0.8 1.5P 7 2 100 10 5.5 22 3.9 4.5 7 4
| M 5 x0.8 1.5P 8 2 100 10 55 22 3.9 4.5 7 4
18049 M 6 X1 1.5P 7 3 100 10 6 24 4.6 4.5 7 4
] M 6 X1 1.5P 8 3 100 10 6 24 4.6 45 7 4
| M 6 X1 1.5P 9 & 100 10 6 24 4.6 4.5 7 4
TYPE 2 TYPE 3 TYPE4 18050 M 8 x1.25 | 15P 7 4 100 18 6.2 30 6 5 8 6
2 ?Dn #Ds Ok oG ®Dn ®Ds Ok 2 ?Ds Ok 0 M 8 x1.25 1.5P 8 4 100 18 6.2 30 6 5 8 6
‘H“ T ar | M 8 X1.25 1.5P 9 4 100 18 6.2 30 6 5 8 6
T T I | =S| /*6 il = 18051 M 10 X 1.5 1.5P 7 4 100 19 7 32 6.8 5.5 8 6
I | J [] =S \/ [] = O M 10 X 1.5 1.5P 8 4 100 19 7 32 6.8 55 8 6
L2 | 2k L2 | 2k 2 M O M 10 X 1.5 1.5P 9 4 100 19 7 32 6.8 515 8 6
en ﬂ n L—1 L | 18052 M 10 X 1.25 1.5P 7 4 100 19 7 32 6.8 55 8 6
L 1 L ' [ M 10 X 1.25 1.5P 8 4 100 19 7 32 6.8 55 8 6
XBEAE1BPEERNUEYY—EBRELTBDET, 0 M 10 X 1.25 1.5P 9 4 100 19 7 32 6.8 5.5 8 6
18053 M 10 X1 1.5P 7 4 100 18 7 32 6.8 5.5 8 6
@ x—HILBU 0 Twaex el s e o[ 7 T [es [ ss | 5 [
e _ I . s IR 2 K~ & (mm) Dimensions J ) . |
A A A e e —— ) Ll I I I N I I
81820 mg :g: ::E : ; Zg 18 j :: gj gg 2 j ] M 12 X 1.75 1.5P 12 4 100 19 85 38 8.3 6.5 9 6
0 M3 %05 15p - P 46 10 2 18 54 30 6 2 O M 12 X 1.5 1.5P 8 4 100 19 8.5 38 8.3 6.5 9 6
81621 M4 x0.7 5P & > 5o 0 5 20 31 a 7 2 18055 M 12 X 1.5 1.5P 10 4 100 19 8.5 38 8.3 6.5 9 6
0 M4 x0.7 15P - > 5o 10 5 50 31 2 - 2 ] M 12 X 1.5 1.5P 12 4 100 19 85 38 8.3 6.5 9 6
0 M4 %07 15P 8 P 5o 10 5 50 31 7 7 2 O M 12 X 1.25 1.5P 8 4 100 19 85 38 8.3 6.5 9 6
81622 M5 x0.8 15P 5 5 60 10 55 55 2 45 ~Z 2 O M 12 X 1.25 1.5P 10 4 100 19 85 38 8.3 6.5 9 6
0 M5 x0.8 15P - B 80 10 55 55 2 45 Z 2 18056 M 12 X 1.25 1.5P 12 4 100 19 85 38 8.3 6.5 9 6
| M5 x0.8 1.5P 8 2 60 10 5.5 22 4 4.5 7 4 U L) S ef 1.5P U s el LR 22 0 = = = E
81623 ME x1 15p 2 3 62 10 5 Y 16 a5 Z 2 18057 M 12 X1 1.5P 9 4 100 18 85 30 8.3 6.5 9 6
0 M6 x1 15P 8 3 62 10 5 Y 26 25 - 2 ] M 12 X1 1.5P 11 4 100 18 85 30 8.3 6.5 9 6
O M6 x1 1.5P 9 3 62 10 6 24 4.6 4.5 7 4 - FBERMOLC G2k IR EROHEEE T,
81824 m: X :22 :-:E g j ;8 1: g; - — : : 2 - The recommended tap limit in ] corresponds to JIS Class 2 internal thread standard.
x 1. . . - -
O M8 x1.25 15P 9 4 70 18 82 — — 5 ) 6 e IFEMEEETY . HEFTHEULEDbELEEL,
81625 M10 X 1.5 1.5P 7 4 75 19 7 = = 5.5 8 6
J M10 x 1.5 1.5P 8 4 75 19 7 = = 55 8 6
O M10 X 1.5 1.5P 9 4 75 19 7 = = 55 8 6
81626 M10 x 1.25 1.5P 7 4 75 19 7 — — 55 8 6
[ M10 x 1.25 1.6P 8 4 75 19 7 — - 55 8 6
O M10 x 1.25 1.5P 9 4 75 19 7 - — 55 8 6
81627 M10 x 1 1.5P 7 4 75 19 7 = = 5.5 8 6
J M10 x 1 1.5P 8 4 75 19 7 = = 55 8 6
| M10 x 1 1.5P 9 4 75 19 7 = = 55 8 6



2057 | E0FY7-Y=LUATTVIF zerochipscamiess Tafet

#E8:HSSE FRHEAUE:TICN

Tap material Surface treatment

é . n = h BRALCNWKR=INTI—=LUVAITLYBNCED HBLRRAIW—{FEIVIICELD
FULWASRSBDHI F DY IEICH A RR IV —iB%=RIF T $higiE IEFYRTOKEA X~ EFIRTOKFRA X~
v T PBARZIV—E
Tap flutes Side-through groove

- FTROfAEICEN>T - FIROMAEEIC
REHRICIEH T B, B> TREISHA.
- AIECREIEY . - ROETHRIEY .
TRE & OB B0 BYDBES VLT B,
- PIBDEHETEDIC
SRS E EEEINBLSCHED.
AL Grooves connecting to
Shank part side-through groove

/Fq\ (- UBHEEL. BoTLESTHENGS

+ TNDETH IR > FeEIHELHA

< INK W BOUTDRIEAILE L 28I
HEARELBVY, HEY v FT
% T & ESL-TFOYI IR IF AR
CETHBIRERIC L,

- INJUDYEE S 2 ATREMED TR LYo

ETOENSHHIND,

< INK U BHOUTOMEA LWL
T ITHEHAINEF N,

« INJUO'EE S 2 ATREMED R Lo

[T
|
i
s

HYARAIL—HE PSR
Side-through groove Square part
\ J
FALIWKR=IFY—=LLVAITLYBMCED HBALRRI—{FEIVTICLD
’%g T WEBﬁ;E{iEE@F:E%Eg ZCIU—-RADEES BilNTOKRA A=Y BN TOKRA A=Y

TR HEHNTIRE

BIROHF =1L DIES oy AT BASAES & U1 B3I

- INK W HOUTOMEA LW =8I

e s =4y HHARE< BV, EEY v TT
MIFHEEIC BS A (CEL Fi‘ﬁih\%m 55 & ESLTFOYURIEDEL
JFNHHEL . ITHEHN RN BENDH CEA ZETHBEREZICL L,
) B DHEERIRAEL - INJRhiEE S BEBEIER TR,
=N e S
BIWW'% <, S
SeiwsE L COBREHH ML) ZC-SL-TF /13
IEFUIIRNTEIUHZEZRLICL L

- =rmea TRIA s = N

FEREH S DIEDES BEBENCOHATIEHNRZZE L LICKW

- SRR B E R
IEF DI TERTERL BBSLTFTIE. s N~
. . . SHOMRIFREL.
= N G 3= = \‘/J\ ~
}Eﬁﬂ%b %<7 \:\(DML)\%D 2 Bl:\ S
OV v TRUENTH>TLES J—5Y MIREEES

VvV IRKEUTIUEDNE L
M7LLR CIREIRMEIF TERZRL) - i |
EEREEHTED ] HARRIV—EEM7~) YA RR)V—ELIE (~MB) N / \
—p - BOF VIV TI—X ( /\
A RRIIV—BME (8 L3 A) -

(o PUBEBL. BoTUE ST

« EERIC & > THEDTEIC

RASTEBZTENTED,
(BEVZDTHA

B> TTRRLY)

FILIFTES.

SEINTHRMEL (BNREHETH-TH) BENTHRVVIRERETES SRR 2RMEL, T—5Y NEFBLEAR. 41 LH—LOBNRARNS < BABEHHS.
= 3 \=+ = “WO B8 s o~ [RILY—ICDOWTERSRIA] [Notes about the holder]
7"’§”“I-6‘30Hb\3n¥ ’JT b*j mﬂ] ® T’ﬂ;ﬁ%%ﬁ\%< Y bﬂIﬁE’é.ﬂ"’bﬂé EEOIVY MRV —CTTERVEEIFET, - You can use a normal collet holder.
o - CUTFDESEHHEDOBDICDONTIE, BHEESIC TR S, - For those specifications , such as the following , please contact our sales representative.

I,%ﬁm’j\ =18} Igémfémzp?(ﬂ * JLPBIECY v TZR—ILRT2ETIV *Model to hold the tap with a rubber or resin
* DEFHZV (BHEZEBZDHD) AT7UVIaby b~ *Number of divisions is large ( 8 those greater than the division) spring collet
* by hORREWIRED SHHIT S ETIV *Model discharged from the gap and the end face of the collet
*HIRTHY v TER—ILRTBDEFIV (FvI\—1KE) *Model to hold the tap in the steel ball ( such as Tupper )
*REEHRILY— # Shrink fit holders

* =2 MITHA * For mist processing



E0FY7-Y=LURTTVIb zero chip Seamiess Tatiet HOFYTBEY=LUATTUIN Toesmostistonismiss ot
HME:HSSE KEIUE: TICN HE:WC

Tap material Surface treatment Tap material

ZC-SL-TF

TC-ZC-SL-TF

TYPE 1 - TYPE 1 TYPE 2
[BffE - BEXREICOWVT]
e fon s oy 1.6P 150+ RBEES e #bn s ok e, s g
)l /S Bl) 1 SPCHREES7E-1507 T 7> 7>
T =) T =) [ =N
|ESEEEE=R0) IESEEE= RO} l 5 &
e | % e | % 2 M
2n 2n L
L | L |
XBIE1.5PRERMNMUEYI—EBRELTEDET, XBIE1.5PRERMNMUEYI—ERELTEDET,
@ —NILRUA 847 (Unit) - mm [ PN =107::] 841 (Unit) : mm
745 L No. 76y Bff | ZCE#H | BE 2N ® K I & (mm) Dimensions B 745 L No. 76y Bff | ZCE#H | RBE JIZIN & K ¥ & (mm) Dimensions B
Item No. Nominal size ec ZCgroove | Limit Type L P) Ds 2n Dn K 2k Flutes Item No. Nominal size ec ZCgroove | Limit Type L P) Ds 2n Dn K 2k Flutes
18058 M3 x 0.5 1.5P 1 5 1 100 10 4 18 2.3 3.2 6 4 81628 M3 x0.5 1.5P 1 5 1 70 10 4 18 2.4 3.2 6 4
] M3 x0.5 1.6P 1 6 1 100 10 4 18 2.3 3.2 6 4 ] M3 x0.5 1.5P 1 6 1 70 10 4 18 24 3.2 6 4
| M3 x0.5 1.5P 1 7 1 100 10 4 18 2.3 3.2 6 4 | M3 x0.5 1.5P 1 7 1 70 10 4 18 24 3.2 6 4
18059 M4 x 0.7 1.5P 1 6 1 100 10 5 20 3 4 7 4 81629 M4 x0.7 1.5P 1 6 1 70 10 5 20 3.1 4 7 4
] M4 x0.7 1.5P 1 7 1 100 10 5 20 3 4 7 4 ] M4 x0.7 1.5P 1 7 1 70 10 5 20 3.1 4 7 4
| M4 x0.7 1.5P 1 8 1 100 10 5 20 3 4 7 4 | M4 x0.7 1.5P 1 8 1 70 10 15 20 34 4 7 4
18060 M5 x0.8 1.5P 1 6 1 100 10 5.5 25 3.9 4.5 7 4 81630 M5 x0.8 1.5P 1 6 1 100 10 5.5 25 4 4.5 7 4
O M5 x0.8 1.5P 1 7 1 100 10 55 25 3.9 4.5 7 4 O M5 x0.8 1.5P 1 7 1 100 10 55 25 4 4.5 7 4
O M5 x0.8 1.5P 1 8 1 100 10 55 25 3.9 4.5 7 4 O M5 x0.8 1.5P 1 8 1 100 10 55 25 4 4.5 7 4
18061 M6 X1 1.5P 1 7 1 100 10 6 30 4.6 4.5 7 4 81631 M6 X1 1.5P 1 7 1 100 10 6 30 4.6 4.5 7 4
] M6 X1 1.5P 1 8 1 100 10 6 30 4.6 4.5 7 4 ] M6 X1 1.5P 1 8 1 100 10 6 30 4.6 4.5 7 4
O M6 X1 1.5P 1 9 1 100 10 6 30 4.6 4.5 7 4 O M6 X1 1.5P 1 9 1 100 10 6 30 4.6 4.5 7 4
47941 M6 x0.75 1.5P 1 7 1 100 10 6 30 4.6 4.5 7 4 81632 M8 x1.25 1.5P 2 7 1 100 18 8 40 6.2 6 9 6
] M6 x0.75 1.65P 1 8 1 100 10 6 30 4.6 4.5 7 4 ] M8 x1.25 1.5P 2 8 1 100 18 8 40 6.2 6 9 6
O M6 x0.75 1.5P 1 9 1 100 10 6 30 4.6 4.5 7 4 O M8 x1.25 1.5P 2 9 1 100 18 8 40 6.2 6 9 6
47944 M7 X1 1.5P 2 7 1 100 16 7 40 5.6 515 8 6 81861 M8 x1 1.5P 2 7 1 100 18 8 40 6.2 6 9 6
] M7 x1 1.5P 2 8 1 100 16 7 40 5.6 55 8 6 ] M8 x1 1.5P 2 8 1 100 18 8 40 6.2 6 9 6
O M7 x1 1.5P 2 9 1 100 16 7 40 56 515 8 6 O M8 x1 1.5P 2 9 1 100 18 8 40 6.2 6 9 6
18063 M8 x 1.25 1.5P 2 7 1 100 18 8 40 6.2 6 9 6 81633 M10 X 1.5 1.5P 2 7 2 100 19 8 — — 6 9 6
] M8 x 1.25 1.65P 2 8 1 100 18 8 40 6.2 6 9 6 ] M10 x 1.5 1.5P 2 8 2 100 19 8 — — 6 9 6
O M8 x 1.25 1.5P 2 9 1 100 18 8 40 6.2 6 9 6 O M10 X 1.5 1.5P 2 9 2 100 19 8 — - 6 9 6
46911 M8 x1 1.5P 2 7 1 100 18 8 40 6.2 6 9 6 81634 M10 X 1.25 1.5P 2 7 2 100 19 8 = = 6 9 6
] M8 x1 1.5P 2 8 1 100 18 8 40 6.2 6 9 6 ] M10 % 1.25 1.5P 2 8 2 100 19 8 = = 6 9 6
O M8 X1 1.5P 2 9 1 100 18 8 40 6.2 6 9 6 O M10 x 1.25 1.5P 2 9 2 100 19 8 = = 6 9 6
47947 M9 x 1.25 1.5P 2 7 1 100 18 8 39 7.2 6 9 6 81635 M10 x 1 1.5P 2 7 2 100 19 8 — — 6 9 6
] M9 x 1.25 1.65P 2 8 1 100 18 8 39 7.2 6 9 6 ] M10 x 1 1.5P 2 8 2 100 19 8 — — 6 9 6
O M9 x 1.25 1.5P 2 9 1 100 18 8 39 7.2 6 9 6 O M10 x 1 1.5P 2 9 2 100 19 8 — - 6 9 6
18064 M10 X 1.5 1.5P 2 7 1 100 19 8 39 7.8 6 9 6
D M'I 0 X 1 5 '| 5P 2 8 '| '| OO '| 9 8 39 78 6 9 6 * *%Eﬁ@l:”;2*&&)m U*E%Em@;ﬁﬁ*ﬁgﬁjo
0 M10 % 1.5 15P o 9 1 100 19 3 39 78 6 9 6 - The recommended tap limit in [Jcorresponds to JIS Class 2 internal thread standard.
18065 M10 x 1.25 1.5P 2 7 1 100 19 8 39 7.8 6 9 6 3 EFEEETT . YHETHBELEDhELEEL,
] M10 x 1.25 1.5P 2 8 1 100 19 8 39 7.8 6 9 6
O M10 x 1.25 1.5P 2 9 1 100 19 8 39 7.8 6 9 6
18066 M10 x 1 1.5P 2 7 1 100 19 8 39 7.8 6 9 6
] M10 x 1 1.5P 2 8 1 100 19 8 39 7.8 6 9 6
O M10 x 1 1.5P 2 9 1 100 19 8 39 7.8 6 9 6
J M12 x 1.75 1.5P 2 8 1 100 19 10 43 9.8 8 11 6
18067 M12 x 1.75 1.5P 2 10 1 100 19 10 43 9.8 8 11 6
O M12 x 1.75 1.5P 2 12 1 100 19 10 43 9.8 8 11 6
J Mi12 x 1.5 1.5P 2 8 1 100 19 10 43 9.8 8 11 6
18068 M12 x 1.5 1.5P 2 10 1 100 19 10 43 9.8 8 11 6
O Mi12 X 1.5 1.5P 2 12 1 100 19 10 43 9.8 8 11 6
J M12 x 1.25 1.5P 2 8 1 100 19 10 43 9.8 8 11 6 HHIHQQ{%H::;’E
O M12 x 1.25 1.5P 2 10 1 100 19 10 43 9.8 8 11 6
18069 M12 x 1.25 1.5P 2 12 1 100 19 10 43 9.8 8 11 6
J Mi12 x 1 1.5P 2 7 1 100 19 10 43 9.8 8 11 6
46915 Mi12 x 1 1.5P 2 9 1 100 19 10 43 9.8 8 11 6
O Mi12 x 1 1.5P 2 11 1 100 19 10 43 9.8 8 11 6

- FEEROLCF 2k UHESEINDHEBE T,
+ The recommended tap limit in [Z]corresponds to JIS Class 2 internal thread standard.

e HIFFFIEEETT . SHETHBRLEDELEEL.



